\ ~

\
i
Cf"« Jr, :j\}- YO

Anﬁ QQU"\MW

P!

33@&)

\lﬂQ\@W ; fj\/ QT;B --l 7%y J }» \;:}
AR L 7m S, — §m >
s — 5<' > s
d3m > ;__i_’ B )
5m m
- N T oS
3 Hon - {”s{; On Ve Lon

<..‘

U [ w7l

O/V\d ‘jw(’f\ "“

%m ,/J JLW / A»*Cv e

7;,,, o

oL

A \‘\?(’\ N {p

\3 y Sl A A LA QAN
_ om S
__,_5.*::’3__.;,}/\

M\\Lllm

L/Vn/’L_:f A L;mfwr

*'u* I

NPl o

,7‘25* .ﬂdn?«@

J!"‘

v

\ N Ol oo \),,,WK_ ;w(»,» 2 [
Y\@f Qcizwf‘w Fa,u/.u) M JZ\/dvﬂu,
Aia O(A//é/\@uzrj [P CLC&o
gn Z A
B V\Om,e,
H-0) Q0m A bos - |doo s d) 4’15?43‘: 0’4331/ 94 36095 =
A , Ek"f\i,\ f fﬁr TM"“’\ / {'\
D §.5h[ boma = 390 min 1yl 92 0005 =lmwods
I 1w 2) ¥835|1h =036k =
)0 bolowy, [l 14,4 W ﬁ |36o0s .
N CJ*“j) ) ._Ot,,i,gfﬂ‘»r\]i o | [day | [y~
| 6Omial A4 lmou_,
6.659 'X/O'7 r
| b I X0 Ty
$a) A5km | looom| e O Dom| lim 36005
'; ‘h; }\ K 3600s EX 1000 m | In
= 6.99m/s é.olyn/ﬁ = 7.3 Kmlh
b) |50Km | Jooom | lar D) Hom| lke | 36005
e | Ko | 36005 S | Josom | | n
- YhTmis = 180 KmIh
=00 Km/~



6~ J4Tm] lom | 3teos .

§9.99knln = 52.9hnm/h

S HOOOM I (ugﬂf.) he coandel cg,,z@ =N My

7*d; 2]00m c 2 = doom ds = Z00m

b1 2 8Ys L= 19395 £ = 43,39

V=d =lge Nad . geo v=d . Yoo

£ T4y L ka3 ¢ w3
= 1016 mis 10.35n¢ = C];&Q mla
1O m s 10mys DIm.Ls

8- £=4Yss =005 A= Vg = 75 Km =] 8Km

V= YO Km [ = (1y0)(00!25)
9- 20,5 o=re Az 4dm

YV =30%m/n =933 mis = (g3 (os)

C?\: B e éi/_’/'fm
)O‘ \VL:‘ 3.0 \/:'ld 2 /A é_.s:: _Ci - /:OY/OV - ;2 q' 5

Vs = 34y ™/ v AL

A= 1.0x/0"m

t, =d. = Joxpe! _ 3.3 y/0‘55
V 3.0x/08

. Vi =0 Osbi-w = lop-0 = Ylmis?

V= lp.Amjs Z 9.5

t 255 '
1d- Q:Q-Qvf\;&; Ot = VEgVN

, N W
V';:'"')
V=0

Ve = @ty U
Vg = (225D YO
Ure 5.5 wLs



[3- '() '\‘0.0§; Q= \/T—U_n‘ = ‘0— I3 :—'/é;) 5 /5 *

Ve=]3.0m/5 N t .03 ~doom/s ?
Ve=0
Q="

PN T O=Ur-y =228-0 =/8.5 m /5?2
Vs =100 Kun [h =27.8 /s = L5 50 /5%

£ =155



15- ¢ ="75.0m C=aTr | Cx2
b=33.5s C:-amw(75)
t,=2306s = Y4T.23 M

Q) Vows = de !

]
Y
<
0
£
o
3

~
/ £, -32.6427 6 = 61/
vi L t )2 T 9 [, @ = *S

Vo, = AY2, Y8 < [15.4mis [

6l

-

' # ) A »
b> /U o @{JA,?LQ QA g L\ ){ - M O J@j 9 3:5,

/
i

l(/ d\ 25.7Km E \/0‘»‘\/-’« ‘*‘&2’./_,..? O{(; =5 7+ /.0t S =/7a

b =2-75h £ ¢ Le =p75r05 + 2-C

(7 270, 50 VO:ub = ,ﬁ?; 4 ;;_/S .; k’m /l.\é

1:)\‘3.;-);)‘61’(?}‘] g 5‘75
Laa 25K

LI Y]

b) Vavy = de  Ole= 57 =ho #/2-5=

e

(- :
|23 =|3. kw7(h1
S. 725

| B t —5.0min co03t, =05
L 2 km/h E O=0O Km V3 = C9)ml

i
N\
A
Q
-
14}
W
¥

£% s+ o+t 32

. o
e U

2 0.753r0.0833 +d 5




Nk Brend en
V=48.0ms F V=25 mls W
Oz Q.0Kkna = 2000 Kin
= 0 = Jdooo : J35s

F 240 m |
h- Amg oo Erin
V = lookm /|,

V=3B kmlh

Vae > Va- Vg —
= 2 . 15 _j0.06ook

l95-100 a
Vat = a5 “,(m!\/\ Sé
= 3. 60Min
L) O= NVt
(\25) (0.0600)
= 7,6KW\
!

b

NO- /V\\Q‘«\HQJJX' , S re( o |
V=07 Kmln V:%ﬁf(ﬁh’/d
d\ = 56 K v e
\}mfr = \/W\— \/‘\"‘ { = g :_j& = O.;{Qé ~7
= 167-(=97) V9% .27 N

s
|

.i.'.:"_ (99) (0.7 7)
= ;) (;. 7 ¥ .
* g
%\NQU WM W’\Qﬁ‘ Q\? K m ,{ Vs Cj}»-yr\ {\i‘x“ 4}‘3 éﬂi“dx{j&,} )



\7

CMA* VE
/9?)\)0«‘3

QL{ é/ KVV\

Sonah
N = Ramig
t =]30s

e

al-
E

vVt
(3.00(130)
360 m

e
P
—

&) Camn. Vol

cvcrJ - O\>
2% ‘.;-}
;= Yoppec

t

‘%akud,smgwﬂm
o, Yol SA e

Con.

b)

O\L}:} 3 d\t,gé

-+

10

e CL“‘\: €24

£§5 .2.3
4 Ko
()\: 11/7 Ko
L/7 - 0'93 'w\
JDO%
95/(”

~\~\\Q‘,j i\ Meek 95 QW\ éta‘m MH@M«M

Eva
Nz Usosms E
t= t-2 =£t-/20s
VE) = VE*—V_\
- J"/(D"?JIO
= 145 mis
éO = QL/OS
S
: i¥~fﬁ,} /&A C‘/Su_’Peaokm SCQ (QOU/”
(%) Con 5. ued (=) Cons. u’zj Sk (=\elir
o ﬂ%rc‘_-l;f;?ga A

©

S (ol tons vl

\_ /¢



Ade) 8\ Cons, U, ) %4& L, Dlopped , taice e, Vo]
- ot 6&.@»’0@0& =
—0oC, -Cona, el |
v L/
, /-_\\\
€

Cﬂ + (oo, Vﬁ»& J = Corwa, /Lx )"v —QCC, F(am,l/g/oj —acc

\ Xe Wdal AXwppe 2 o +oc
P

/\ h———
t

93‘ A:}’i\:_\_ A;‘V)L\

C

L/'S "‘o{"l‘ ':aé ~O.6 - “f —

A=\ A=l
&. = o X
sy =05 = H
Fs
b> A=Y%hn A=g\n A>bh
o (3)(3) 2
(D) = Y.5 9 (N3) =3




